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1. A @ faamdt 3 sidsht i ffora § sifderan efitaa

3ieh uTe fahg ?

(A)N (B) P

()M (D)R

(E) srgaRa us [d]
2. fora= faenffat A nfora §,40 siehi @ S1fSrer sieh umea

frg ?

(A) gt (B) @R

(C) = (D) T

(E) sraRa us [a]
3. fore faendf o1 wfoig Sfizeidsh # siehl &1 srgurd

g A g ?

(A)R (B) N

(€)Q (D) M

(E) srqafa us [c]
4. g+ Renfyal ZRY SUSH # ured $el Sich '@ -

(A) 195 (B).200

(C) 205 (D) 190

(E) srqalka us [c]

5. fradd e gLy auanl & 38 a3182
(A) Ufd + I + FR= UeGIhR
(B) 95 + 3T + IR = YHIEAR
(C) 31fd + 31T + IR = IR
(D) AR + 9«1 = e
(E) srqafa us [d]
6. Fill in the correct article/determiner in the
sentences of List I, selecting from List II.
ListI List II
a. Hari knew .......... man I.a
who was killed yesterday.
b. Sri Lanka ....... is island. IL. the
¢. My mother teaches in I1I. the
................ college.
d.January s .......... first Iv. an
month of the year.
Choose the correct answer from the options
given below :
(A) a-1, b-I1, c-1V, d-III
(B) a-I11, b-II, c-I, d-1V
(C) a-1V, b-II, c-I11, d-I
(D) a-11, b-1V, c-I, d-III
(E) Question not attempted [d]

10.

11.

12.

fFrafaf@a werum & gegdfal wt wemagEr
Zafeyq fifeg
1. WiRig aad 2. YW IS

3. SR AT 4. gieg weht

5. BIRTeTTeT AT

i fe v faeped] § T T8} IR &1 984 hIfSig:
(A)5,3,4,1,2 (B)3,4,5,1,2
(C)5,4,3,1,2 (D)3,5,4,2,1

(E) srgafa us [a]

o TRe] afkay | gt gferat &l stier sman g -

(A) goft oo &

(B) afe ufRay & T o1 917 31fdes § dt 38 gHiar e |
ST ST § 3R af | € @t Soft she & Ser Sar 8

(C) afE uRuy F eRT &1 719 31fdes § at 38 Aoft &y |
ST 1T § SR afE o € af THiaR ohH | SIIST SITdT g
(D) GHiaR A |

(E) srgaRa us [d]
gl I & a1y gt 1 &1 faas fifsg:
gt I gt I

a. TSI &1 'gomerd’ 1. forar m

b. ISR T 'qreAq" 11 FROTRig

C. TSTRYT T 'SSfA" 111 TGAHTE ST Wg

d. ISTRATT T "t IWARICERT

9 iGu 7T faemedt | 9 -Tel IR &l g9+ hIfIg:

(A) a-11, b-1V, cf, d-1I1

(B) a-11, b-1V, ¢-111, d-I

(C) a-111, b-1, c-1V, d-I

(D) a-I, b-1V, c-II1, d-II [a]
(E) sraRa us

Complete the sentence by choosing the most
appropriate option from those given below
the sentence.

He finished first ............. he began late.

(A) but (B) since

(C) because (D) though

(E) Question not attempted [a]

Hiehfeg g AL T Prdq ashich G | T HE A
gafeaq aﬁtfa'q,f@mﬁanif*ﬁa;maﬁ?ﬁu al-

1. e & S e 2. &l H 3Fote hlei

3. argAvSe # CO, 4, 9et § 9 preiA

5. Sid gereif & Sirarugstt gRT fage

A iU faemedt & § T8t she &1 99+ hifoig:

(A)3,4,1,5,2 (B)3,1,4,5,2
(€)3,4,1,2,5 (D)1,3,4,5,2
(E) srgafRa us [b]

Given below is a sentence in Active voice.
Select the best option to change it into
Passive voice.

Some boys were helping the wounded man.

1. The wounded man was helped by some boys.
2. The wounded man was being helped by some boys.
3. The wounded man was been helped by some
boy.

4. The wounded man had been helped by some boys.
Choose the most appropriate answer from the
options given below :

(A) 2 only (B) 1 only
(C) 4 only (D)3 and 1 only
(E) Question not attempted [a]
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13.

14.

15.

16.

17.

18.

19.

20.

21.

ATSThel §-goh QST @ éa ufag & agife & uahr &
ST, gochl 3R SifEl & forg glaursaw g1 3+

ot Y 7 fAy 37k (ard)) R A g ?

(A) 39 31R. @8t (B) uH.ams. . qm=. Trgl

(C) $-zardt (D) grerehtar TR

(E) srqafa us [c]
fArafafaa A @ &9 91 Gudhdla vietaia g ?

(A) Ta & & it (B) et ot

(C)& (D) & = ot

(E) srqaika us [a]
frq I ifdear ey & Su=faq g € T
& fOT 39 Ol Al A9 @ W= &I

(A) AT3erST= (B) @

(C) TowR ezl (D) BI3SioH

(E) srqafa us [a]

fArafafea d S yRa T ugearder pI AT ?

(A) ep 31T SerehT

(B) sray shaffae S

(C) g=fifaet de 3ifw sf~ear

(D) s 3T fegeam

(E) sraRa us [a]
s 4.8, (fnifes Saaude wram-a=e) & &1y aar
%7

(A)
(B) Ot ehie a1 Tad: &k giar
(C) frerTg ohzT ST &

(D) ANTd &Y gYSIrdl 8

(E) srgaRa us [*1
T @ 'gIara’ @1 IS@I0T 1 Hig ?

(A) S/ ae fAeTer @ §, a=a id 8 &

(B) frerer g & a9 gt 80id B8

(C) frerer & foeT I== 21id T8 B
(D)
(

B
C
D

D) frarer & GHA a==t 30T Y&d &l

E) SrgafRa us [d]
gt I & |1y gt 11 &l f@er fifsg:
g1 () el 1L ()
a. gerr I fderfda A
b R IL. faerfa= B
C. Tifaex IIL, Tt
d. SiRirdafaar V. e

H Ry 7w Rereal d @ Tt 37 &1 994 HifSrg:

(A) a-11, b-111, c-I, d-IV

(B) a-I1, b-III, c-1V, d-I

(C) a-111, b-II, c-1V, d-I

(D) a-I1, b-I, c-I1I, d-IV

(E) srqaRka us [b]

afe gu" n "k dEatel 1 Ared 27 @, at n &
3

1= g -

(A)O (B) 4

()3 (D) 2

(E) srgaRa us [c]

Transform the given sentence into negative
form choosing the best option from below:
Everyone present there, cheered for her.

(A) There was no one present there who did
not cheer for her.

(B) There was no one absent to cheer for her.

(C) All but none cheered for her there.

22.

23.

24.

25.

26.

27.

28.

29.

30.

(D) There was no one present there who
cheered for her.

(E) Question not attempted [a]
foreft e A wsfaral ok el &Y dxar 7 24:16 w1
T g1 hert # asfhal it ufaera dwar aar g2

(A) 66 (B) 56
(C) 40 (D) 60
(E) srqafa us [d]

fArafaf@a & @ Is=a= &1 &9 91 Sasda e
ugdn "ga | oAt & g (SiEiew) e a9 man §?

(A) Sen (B) Rz

(CO)g®E (D) 3R

(E) srqafa us [b]
frg 4 @ wlFar eieitdl. (snsslae siifRdfes
wofan) fRAgia T8 &:

(A) the g (B) Gfera =T

(C) gamgere (D) 3tichsT T ARG

(E) srgafRa us [a]
V2 iR /7 & dra i aRda we &

(A) 2.64998 (B) 2.432

(©) ﬁ;ﬁ (D) Y2 ;*ﬁ

E) srgaiRa o [d]
ISRO T aciHI=, 31 edET hi- &2

(A) ga. FiwaTg (B) dt. dR1gyda

(C) Sft. amera= FaR (D) &. Tt

(E) orgaiiRa % [a]

X Ueh 9| dd & iR 519 a1 | w1l S 9ahar gl
I8 a1 § el el SIl SohdT 3HR/dg Uit & |1y
g doft I SATeRAT el &1 X ! GgaTiag |

(A) Tifsaq (B) wreniRE
(C) fRrag (D) Awfifrs
(E) srqafa us [a]

ISTEUHH-G3T fAYUOr 3ars (REFR) & areT ugen
Zifch i 41?2

A) Tted =gt Agdr (B) u=2amd 19 fazer
(C) o et (D) Rr a5
(E) srgafa us [b]
gt I & g1y gt 11 &1 e fife:
G-I Q11
a. 3l &l arT 1. 9gd afosrd gl
b. grit-urft g 1. 9gd @RI g1
C. AT g II1. 77 &rT
d. Sfeh 9T IV. serT g

2 fou v faped} & @ g8} IR &1 999 HIfSiT:

(A) a-11, b-1, c-1V, d-III(B) a-II, b-1V, c-I, d-III

(C) a-1, b-111, c-1V, d-1I (D) a-1, b-II, c-1V, d-III

(E) srgafRa us [a]
HHhT IASTEATT <kl bl T AT "N YRA &1
TS hgdTdT 82

(A) RISt Tt (B) arafis

(C) Tars 511 &g (D) wgRTOT FHEUT

(E) srgaRa us [d]
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31.

Q.No.

32.

AARAT &1 uShdl, AT T hifAwTe # A Hh,
fArafafaa A @ fara si &l wanfaa w=ar &2

(A) BIT 3ffa (B) 31T
(C) nfersan (D) Tpa
(E) srqafa us [d]

32-36: Read the following Passage and
answer the questions that follow:
Bhutan is a mesmerising mix of lofty mountains
and deep valleys on the southeast slope of the
Himalayas. Towering peaks reach as high as
24,000 feet (7,315 metres).
Also referred to as the land of the thunder
dragon is a trekker's paradise and an
environmentalist's dream. With 72% of the
country under forest cover, Bhutan's pristine
ecology is home to endemic and endangered
flora and fauna.
This spiritual land is the lastbastion of the
Vajrayana school of Mahayana-Buddhism, which
provides the essence of<'the identity of the
7,50,000 Bhutanese. Bhutan is a unique blend of
the old and new. The country is slowly opening
up to the modern world whilst maintaining a
fine balance with its,ancient traditions.
Bhutan's first national-elections..in March 2008
marked the country's shift’ from “an absolute
monarchy to a constitutional monarchy. /In
keeping with its ethos, |it was a peaceful
transition.
The tourism industry in Bhutan is founded on
the principle | of sustainability, meaning that
tourism must be environmentally and
ecologically friendly, “as well as’ socially" and
culturally acceptable./ The .number ofWisitors, to
Bhutan is regulated. because of| the lack of
infrastructure.
Bhutan's Government recognises that tourism is
an important means means of achieving socio-
economic development, particularly for a
developing country like Bhutan. They also aim to
help promote understanding among the people
and build closer ties of friendship, based on
appreciation and respect for different cultures
and lifestyles.
When was the first election held in Bhutan?
(A) March 2012
(B) March 2023
(C) March 2018
(D) March 2008
(E) Question not attempted [d]

33.

34.

35.

36.

37.

Page -3
Match List-I with List-II:

List-I (Words) List-II (Meaning)

a. Flora I. Of great height

b. Lofty I. Culture

c. Monarchy III. Plant life

d. Ethos IV. Government of one ruler

Choose the correct answer from the options
given below:

(A) a-11, b-111, c-I, d-1V

(B) a-I1I, b-I, c-1V, d-II

(C) a-1V, b-I11, ¢-I, d-II

(D) a-1, b-I1, c-I1I, d-1V

(E) Question not attempted [b]
Select the best option as an answer to the
question given below:

Why are the number of tourists regulated in
Bhutan?

(A) Due to danger for flora and fauna

(B) Due to lofty mountains and deep valleys

(C) Due to forest area

(D) Due to lack of.infrastructure

(E) Question not'attempted [d]
Complete the following sentence using the
best option:

Bhutan’is a unique blend to old and new as

world with ancient traditions.

(B) new visitors are coming more often now.

(C) there is socio-economic development.

(D) there are old and new people‘around.

(E) Question not-attempted [a]
Complete the given statement by choosing
the suitable option.

Thejtourism industry-in-Bhutan is founded on
the. principle of sustainability which means

(B) tourism has to be ecologically friendly.
(C) tourism has to be based on religion.
(D) tourism has to be promoted.

(E) Question not attempted [b]
gi-1 iR gHi-11 o1 e Fifsia:
gHi-1 gHi-11

1 3x
a. (—j =0.008 L. x=3

3
b. x* =81 I x=4
c. 2 =256 . x=1

4

d. x''* = IV. x=9
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38.

Q.No.

39.

40.

#i7 fRw oI faereal & @ G IR @1 9ga HifS:
(A) a-I11, b-1, c-1I, d-IV

(B) a-1, b-I1I, c-1V, d-II

(C) a-I11, b-I, c-1V, d-II

(D) a-111, b-1V, c-1, d-II

(E) srgaRa us [c]
2[E a194 T 99 hiforg-

(A) 7=t STrAT 81 (B) 3mu &3t1 6

(C) agl sl aT @S €1 (D) AR &t ST &1

(E) srqafa us [a]
39-43: Read the given Passage carefully and

answer the questions that follow:

Exercise makes us feel good

It feels good to have a strong, flexible body. and
do all activities you enjoy. Exercising can actually
put us in a better mood. When-we exercise, the
brain releases a chemical called"endorphins”
which makes us feel happier. This is just another
reason why we should exercisel

However, some people feel that you should not
exercise if it is hot.

Actually, summer's heat and humidity shouldn't
keep you fromrexercising you just-need-to take
precautions. Some of these are:

Exercise in the morning=.or evening, when
temperatures are lowef

Wear light coloured clothing, which are not too
tight.

Work out in shaded areas as much as possible.

If you are exercising less than two hours, drink
water before and during the activity.

After exercise, make sure you drink enough
water to completely quench your thirst. [1
Select the appropriate answer sto"the given
question:

How does exercise make us feel happy?
Answer: Exercise makes us feel
because ............

(A) it makes you drinkla lot of water.

(B) it puts you in a good mood.

(C) it makes you go fiitside home.

(D) it makes the brain release 'endorphins
which makes us happy.

(E) Question not attempted [d]
Complete the following statement choosing
the best option:

If you are exercising, you should not ........... .
(A) exercise in morning or evening

(B) exercise in the hot sun.

(C) drink water before and during the activity

(D) drink a lot of water

(E) Question not attempted [b]

happy

41.

42.

43.

44.

45.

46.

Page - 4
Match List-I with List-II:

List-I (Words) List-II (Antonyms)

a. Humidity I. Rigid

b. Pain II. Worse

c. Better III. Dryness
d. Flexible IV. Pleasure

Choose the most appropriate answer from
the options given below:

(A) a-11, b-111, c-I, d-1V

(B) a-1V, b-I, c-I11, d-II

(C) a-111, b-1V, c-1I, d-I

(D) a-1, b-I1, c-I1I, d-1V

(E) Question not attempted [c]
Select the appropriate option for answering
the question that follows:

Why is it necessary to exercise?

Ans. It is necessary to exercise because it
(A) makes you feel more hungry

(B) makes you look smart.and fit

(C) makes you feel'sleepy

(D) makes thé'body strong and flexible

(E) Question not attempted [d]
Select the most suitable title for'the'passage.
The title of the passage is ............5. .

(A) Benefits of Exercise

(B) Happy Exercising

(C) Physical Fitness

(D) Exercise and Happiness

(E) Question not attempted [a]
Given below is;aisentence in English Translate
it in Hindi and choose the.correct option.
Hard work is the key to success.

@l BT &1 TheldT ohl ghoil g |

2. HSR YR 5f thetdT ht @Tell g

3. IS M ¥ g herdl T 81T

4, heTd I g€ SR hIH HAT & |

Choose the correct answer from the options

given below:

(A) 4 (B)1and 2

(©)3 (D)1 and 4

(E) Question not attempted [b]

................. UHHATT kR Y anfe srafRuaa wifAemnd
gt g foad fafas gar & Fifderet & RAwfaa

1 Y srgreRor &rmar gt -

(A) IUehdT ahifAerTd (B) 31fd=d iferrd

(C) amfe whifrepTd (D) 29 SifAmT

(E) srgaRa us [d]
"figg Teg" ASTEUT & HiA @ & A fohar e g?
(A) gretdt (B) r@maT®

(C) #ars (D) arTe

(E) srgafa us [b]


https://telegram.me/lakshyaclassesudr

TR SrahrTde Tetr IR Geft | 11 wRast, 2024

47.

48.

49.

50.

51.

52.

53.

"gg AR ¥ HUS YAardr 1" ared | it forar 2

(A) stertias fohar (B) vRumfe ferar
(C) gdientferan foram (D) et fopar
(E) srgaRa us [b]

' AT UR H3T @igAT" FAlehifh a1 o1 &:

(A) foafxy o 9 IR g FATYH @l

(B) faufar 3 S UR Ikt fARTRROT HAT

(C) =t vrT-gts AT

(D) ag<ett § i3 1 hAT

(E) srqafa us [b]
"3’ & forg Tl et orez @:

(A) fSrsenT gwg SiieRT 71 ST |kl

(B) St geaar &l

(C) STt geag gl

(D) forae 9o gt

(E) srgaRa us [a]
afg 15 fika ar 30 wrsfhat 18 f&= #.270 ge Rt
&, at 10 3fiRd efik 20 wisfhar, 18 f&q # fhast ge
a2

(A)320ge (B).300 g

(C) 360 gz (D).400 ¥e

(E) srqaRa us [c]
gd1-1 & |1y gHi-11 o1 e fifs:

gHi-1 (geadh) gdI-11 (ciaeh)

a. 5%A & IR} 3R LR 99

b. ToTHTST I1. fRgars YR

C. ST FUH 111 89 &hfg

d. Fh ez, e fdettel 1V, AfOT Ag

Hi Ry 7 RAercal & & Fgl 3¢ &l 991 hifSie:
(A) a-1V, b-II, c-I, d-III

(B) a-1V, b-1, c-1I1, d-II

(C) a-111, b-1, c-II, d-1V

(D) a-1V, b-III €L d°IT

(E) srqala us [d]

WIGaTaeh Pe~d hlSUTth SaTE0T chI-THI a2

(A) Tgar (B) AT

(C) qura=T (D) uertae

(E) srgaRa us [d]

gHi-1 & a1 geh-11 &1 fAes K

gHi-1 (urg/s1arg) gAt-11I (fatwan)

a. urT 1. FH3RaA urhfae uard gd
SUTT &

b. st II. Gk 314Tq it faege ar
Tk &

c. gRr II1. Qe IHGER U &

d. dwrge IV. 3fhdT UTg it 9T
dg R g giar g

1 Ry 71w fRAyereal T 9t 3R &1 ag= HifSg:
(A) a-1V, b-I1I, c-I, d-II(B) a-1II, b-1V, c-I, d-II

(C) a-1V, b-I11, ¢-II, d-I (D) a-1V, b-I, c-II, d-II

(E) srqaika us [a]

54.

55.

56.

57.

58.

59.

60.

HTd < 1198 x 1198

(A) 1435224 (B) 1430204

(C) 1432204 (D) 1435204

(E) srgaRa oy [d]
Match the phrases of List-I with the
corresponding words of List-II:

List-I List-II
a. Severe shortage I. Emeritus
of food

b. A retired person
retaining honorary
title

c. Fear of water III. Famine

d. Abnormal fear of IV. Claustrophobia
confined place

Choose the correct answer from the options
given below:

(A) a-I11, b-1, c-II, d-IV

(B) a-I1, b-I11, c-1V, d-I

(C) a-1V, b-I, c-II, d-III

(D) a-1, b-11, ¢-IIL.d-1V
(E

II. Hydrophobia

) Question not attempted [a]
'gft-a=1" dfén &1 R (deR) i 8?
(A) AT gt (B) 3R i
(C) 7=t &t (D) Mg =g
(E) srgaid o= [d]
G-I eh |12 F=H1- 11 vt Aer fifsg:
gdi-1 ef1-11
a. 3R I. 31
b. s IL. g11a
C. 3127 L ug
d. sifafa IV. @&

#a few u RAereal & F Tt IR &1 994 hifSg:
(A)ra=Ilb=Irc-1V, d-1TI(B) a-I, b-III, c-IV, d-II
(C) a-11,.b-1, c-I1I, d-IV (D) a-I, b-ll, c-1V, d-III

(E) Srg<iRa us [a]
V234225037967 wwmei & @ uRdw
Txaredl <1 g 4T g ?

(A) 15.3796 (B) 17.64

(C)19.79 (D) 7.43

(E) srgafRa us [a]

Sifaes geret &1 dhgeit i dgraar § @i J s aar
BTl 8?2

(A) @Tg ST (B) pf smeaifed

(C) spmifEd (D) 3rqged

(E) srgaRa oy [b]
frafafaa 9 9 s gia 39w & gRuaradig?
(A) a1g AR

(B) thuge AR

(C) Tt shiw

(D) T &G

(E) srgafa us [c]
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61.

62.

63.

64.

65.

66.

frafaf@a & |, 2022 § wra &1 9@ a1 U
fara=oT dirsw imaT Ur?

(A) Fanferér (B) st

(C) af==h (D) #eR ST

(E) srqaia us [b]
"SHERT" JTHWOT TR Ug-T ST gl

(A) & (B) R

(C) =R (D) =

(E) srgaRa us [c]
gA-1 & |y gHi-11 &1 e fifeg:

gHi-I gHi-11

a. 31 + 3 L. T[0T ¥R |fY

b.3r+% II. &ef TR |f

c.3+3 ITI. 3ranfe TR &fY

d. st + 31 1V. guy TR |fY

#iA e v Rereal & @ 9} IR &1 994 hifSg:

(A) a-I1, b-I, c-1V, d-III

(B) a-11, b-1V, c-1, d-III

(C) a-1, b-I1, c-1V, d-III

(D) a-I11, b-1, c-1V, d-II

(E) srgaRa us [a]
Given below is an exclamatory sentence.
Change it to assertive form, choosing the
best option.

What a delicious flavour these mangoes have:
1. These mafigoes have a delicious flavour.

2. These delicious mangoes have a good
flavour.

3. The goof flavour is of these mangoes only.
4. The mangoes are delicious.

Choose the correct answer from the options
given below:

(A) 2 only (BY1 only

(C)3 only (D) 1'and 4 only

(E) Question not attempted [b]
& YAl ) ugar= hifSg)

1. ¥ 200 areft ek g &t 25% @I wR a9 & fasra
7T T 250 ghi

2. afg oha e = T 56.25 3HR A1 = 20% g, df fasrg
T = T 67.50 g

3. af% oa gFa, fasha Gg &1 96% g af 19 4%
ghth

100

A FEAT = 160 1 amaop < T

T & 9 999 T IR &1 9g4 hAifag:

(A) dhaet 3, 2 3R 4 (B) Shaet 2 iR 4

(C) Fhaet 1 3R 4 (D) haer 1, 3 3R 2

(E) srgaRa us [b]
9,7,6,7,8,2,10,6, 4, 12, 3 3iichsl Y Arfednt aar &2
(A) 2 (B) 7

(s (D)6

(E) srqaRa us [b]

67.

68.

69.

70.

71.

72.

73.

gHi-1 & a1y gHi-11 &1 e K
gi-1 gHi-11

a. oifd + 3@ L. & |§fY

b. e + a1 I1. & TR §f
c.f@+aa II1. 7o1 TR SfY
d. TR+ §1 1v. et @fYr

Hi9 few mq RAereat & @ 9 IR &1 9uq Hifag-
(A) a-1, b-1I, c-1V, d-1II

(B) a-II, b-I, c-1V, d-III

(C) a-1I, b-1V, c-1, d-1II

(D) a-111, b-1V, c-I, d-II

(E) srqafa usr [b]
frafafaa 4a ot I 7fa & srgar (91 & oR)
A H #I:

1.39 2.gg & &

3. et 4. SR

5. T Ty St

Hi2 e u fRAweal & @ 9 IWR 1 gg= hAifSg:

(A) & > AW > >TgTg & > Ta S &

(B) AT > A > W > g & > g ug &

(C) & > TR > W > Tg &> vy S &

(D) AT > FAS W > v v St > ua S H

(E) eraRd o [d]

?ml%lf@aﬁﬁaﬁ:r;ﬂwmaaﬁrmﬂwé}qg?
?

(A) 3rguTe e (B) 3T AR AR

(C) sfee=r et AgR (D) 77 8%

(E) Srg=iRa us [c]
WIRd <hl "ehe A" fehd gt STTaT 82

(A) STT=TehT STFeT (B) seuT aTgar

(C) sfehr g (D) Rg wréemet

(E) srqaRa g [d]

Hi7 g To'suEEA & 3 sy YFe S e &
e 7 9 78l &

1. JSTRYTT T SFhel Wil o el &thet b1 10.4% B

2 TSTRATT Fl GTeRAT 52.12% &l

3. JSIATH H Ul 1000 YT bl Jo1 § 928 AfgATd &1
4. Ty et 3R ifSar ST & uflig &S g1

5. foIfeRIRTST # JTSTRUTA T GRAT ATH JSTYATT AT

3 RRu 7 faemedt & @ T8t IR &l 994 HIfSIT:

(A) Faer 1 3R 4 (B) shaet 2, 3 3R 5
(C) aer 2 3R 4 (D) daeT 1, 2 3R 4
(E) srgafa us [c]

e & fafww, fFra 7 § frg uy & as*Y= &
"ISY u[" i oIt fear mar g ?

(A) S (B) ahret fgRuom
(C) 3r=TR (D) fRiewTRT
(E) srgaRa oy [d]

Given below are sentences that may be
correct/incorrect in the use of tense. Select
the correct ones.

1. I was having shower when the phone was
ringing.

2. He said that honesty is the best policy.
3. Rama promised that she will
homework.

4. Gopal fell asleep while he was reading a book.

do her
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74.

75.

76.

77.

78.

79.

80.

5. We arrived at the airport at 6 pm but the
checkin counter was already closed. Choose the
correct answer from the options given below:

(A) 1,3 and 4 only (B) 2 and 4 only

(C) and 5 only 2 (D) 1 and 2 only

(E) Question not attempted [c]
99 a9 | g1 ug 9MrgE: vy gid g, 39 aan
FEd &-

1. fgaas 2. 5% gAY

3. agshife aarg 4, Jr=gdt 91g gHE

H2 feu feu v fapedt shedl & T Tet & I Il IR Al
g HIfSg:

(A) a2 (B) dhaat 3

(C) Fa<t 4 (D) et 1

(E) srgaRa us [a]
'ASTEYT Y gd & uffq a hr Asrd @ -

(A) 839 fopeft (B) 896 fapeft

(C) 890 fopet (D) 869 fopre

(E) srqafa us [d]

Choose the option where the prefix has been
used correctly in the words given below:

1. Initial 2.Innumerable

3. Irritate 4. Unless

5. Irreparable

Choose the most appropriate answer from the
options given below:

(A)1,2and 5 only

(B) 2 and 3 only

(C) 3,4 and 5.only

(D) 2 and 5 only

(E) Question not attempted [c]
“#& gu diere wiail g, # el a1 fohar AE g 2

(A) Sreties forar (B) .ueferifien feRar

(C) Ay fonergf (D) fgopran forar

(E) srqalRa us [b]
frafaf@a & 9 ol 9.5, 99 Sdurst & 2

(A) B* (B) O*

(c) AB* (D) A*

(E) srqafa us [c]

¥ 10,000 Y AfA Uz 2 adf & fAQ awRgfg sarT ik
HIYRUT TS AT 3R 400 g1 =rst i &= (wfaed )

g1 giif?
(A) 10% (B) 20%
(C) 40% (D) 15%
(E) srqaRka us [b]
gt I & g1y g 11 o1 e fifs:
gt I (yspm wTA) gl 1 (Sfor ug)
a. Egio Ao 1. ST el &
ST 1 fAHfor
b. ST I1. 3T o1 AT8EI8E
3R 1% & A13¢T # uRada
c. famsdiesor I11. agHSe <l {eh ATSgIoH
ST AAT3EISTH & GifiTeRt
# gfad=
d. At IV. FITE¢T T Hzh ATSEISH

# uRad=

81.

82.

83.

84.

85.

86.

87.

#a few e fAreat & @ 9t IR &1 999 HifSg:

(A) a-111, b-1, c-II, d-1V

(B) a-I1I, b-1, c-1V, d-II

(C) a-1, b-I11, c-1V, d-1II

(D) a-111, b-1V, c-I, d-II

(E) srgafRa oy [b]
I 9T a9 UST AT UGN HIA a1l & fag e
aid QuglRiaglarg ?

(A) 811 (B) srgafaer (mfasfie)

(C) adam (D) Bfesn

(E) srgafRa us [b]
fiedaiiex Teh ¢TI & Sil-

(A) aftay # faega umRT & vang ok fam &1 sif=m=
dar gl

(B) uRuy # g R Y féerm t A1gar 1

(C) ufaer & fasa ot ATgaT 81

(D) uRuy & fag[a w1 &l 71T 8|

(E) srgaRa us [a]
2011 &t TOFET & HFER, ASTEA H goui &
qrarRar ufaerd 8-

(A) 79.2% (B).72.9%
(C) 78.9% (D) 75.7%
(E) srgaRa us [a]

Matehthe' words.of List-I with, the word
baving a similar meaning in List-II.
List-I (Words) List-II (Synonyms)

a. Inception I. Idea

b. Bizarre IL. Dissolve

c. Notion III. Beginning
d. Liquidate IV. Unusual

Choose the correct answer from the options
given below:

(A).a-11, b-I1I, c-1IV, d-I (B} a-11I, b-1V, c-I, d-II
(€)a-1v, b-], c-1I, d-lii(D)a-L, b-I1, c-I1I, d-1V

(E) Question not attempted [b]
(0:04)725 1 11 aaT gir?

(A)3125 (B) 125

(C) 25 (D) 625

(E) ergafa o [a]
qf? + YHur A1 IE} 2AE AT E?"

1. wyHor 2. UYHOT

3. gRyHur 4. ufaysor

H2 few e fRArareat & S 9@t IWR &1 994 hifog:

(A) eharet 2 (B) &ae 3

(C) haer 4 (D) Fae 1

(E) ergaifa o [b]
e F & st ereg orqa o1 yatgard w8 872
1.9 2.ty

3. sifi 4. gror

5. Sfiaq

2 o v faepredt & @ g8} IR &1 999 HIfSiT:
(A)2,3 (B) 4

(0)3,5 (D) 1

(E) srgafa us [b]
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88.

89.

90.

91.

92.

93.

94.

fArafafaa A @ siaar grddaz Sumor a8 82

(A)drdr g (B) was
(C) =139 (D) arfte
(E) srgaRa us [b]

Change the given sentence of Indirect speech
to Direct form by selecting the appropriate
option.

Sudha informed me that she would go to
meet her mother next week.

(A) Sudha said, "I must go to meet my mother
next week with you".

(B) Sudha said to me, "I may go to meet your
mother next week".

(C) Sudha said to me, "I shall go to meet my
mother next week".

(D) Sudha said to me, "I would go to meet my
mother next week".

(E) Question not attempted [c]

gHdl-1 & |1y gHi-11 o1 e fifsg:

Teft-1 (vgeayuf Tur)  gER-11 (Reads grr Pmfor
forar man)

a. S1aTe o fohet I. FqgEI Qaeh
b. gar ugd IL gea= frargd= R[@asht
c. 3rers & 1 st 1. st s oA &g

d. TR s Mg IV. HERTST 9418 uarg &g
Ha few e fRArereat # @ 9t .3ITR 1 994 hifSrg:

(A) a-IIL, b-1V, c-II, d-I

(B) a-III, b-1V, c-I, d-II

(C) a-I1L, b-I1, c-1V, d-I

(D) a-111, b-1, c-1V, d-II

(E) srqalRa us [b]
frafaf@a & 4 59 UNESCO fas /WRas sRigz
aifea 3 forar mar &2

(A) SR HeR, STIYGR (B) S1HR fohedr

(C) Agzrme fohems (D) acTed IE e

(E) srqalka us [c]
A & 1 angani el Ikt S AfERat & SireRiEy
A TwH A eafeda Hifag-

1. o1 (i) 2. Hferan

3. IR 4. urfmw

5. W9t (@)

1 Ry 71w fRyereal T 9t 3R &1 ag= HifSg:
(A)4,2,1,3,5 (B)2,4,1,5,3
(€)4,2,1,5,3 (D)4,1,2,3,5

(E) srgaiRa usd [c]

ek g9 ht 220 dice & faega dia | siter sirar g1
g areft fAgga uRT &1 AT 0.30 A g1 Foa hY AafH
ghft-

(A) 66 are (B) 660 are
(C)7.3x10%24qm (D) 6.6 are

(E) srgaRd us [a]
3997132 & Ud i hgd g

(A) g 3R Qe (B) amg &t

(C)StTaug (D) dAther =T

(E) srgaRd us [a]

95.

96.

97.

98.

99.

100.

101.

102.

103.

"gr-ft IAAT" 1 a1 7Y §?

(A) SSSTd IARAT (B) 359Td o1

(C) s551a SATT (D) g59Td AT

(E) srqafa us [c]

gHi-1 & a1y FHi-11 &1 fAer fifSg:

gHi-1 gHi-11

a. IJFY Hehd 1. FHFAR Hhell ol Tat
Tch GART W1 gl

b. gRrade® (Rfter)  II. ager Suemon &t
Sitgdr 81

c. 3ihrg Heha III. 9ad Sehd

d.ga g IV. 3/9dd Tahd

#a few e fAeweat & @ 9t 3R &1 999 FifSg:
(A) a-1V, b-II, c-III, d-I  (B) a-III, b-I, c-II, d-IV
(C) a-III, b-I, c-IV, d-II (D) a-1V, b-I, c-III, d-II

(E) srqafd us [d]
'S AT SIET 81 & fAT Uep areg @

(A) 3reast (B) sig

(C) gzt (D) 3T

(E) srqafa us [a]

&al s HRUNT | UEAIgdlgh3TH T 9 uege
®Y § grg UGHULERT hIRUT A6l 62

1. g & sty 2. SarargEt 8§ fAeperar esit
3. 9] AelSTd 4. pfY srafE

5. ATh Sl IR ehligt T ST

H2 fRg 19 RAweat # & ga@ Iugh IAX &1 TG

HfSg:

(A)1,28R4 (B) 3 31k 4

(C)3,48R5 (D) 2,3 3R 4

(E) s us [b]
d99r3c ol 8¢ 9949 (24x7) Iudsy A & faw
fagpar g Fia<h a1 gain d @rs st &2

(A) @9 gif<dn (B) g= & & ot

(C) &t wmrgfe (D) fafeat e

(E) srgaRa us [a]

Td &l OH Ud A gae foke & fg diean & gt &Rd
8?2

(A) <S> (B) <3t ger>

(C) <g ams> (D) <g g=>

(E) srgaRa oy [d]
1.14, 3.8 <1 foha=r ufasra &2

(A) 30% (B) 40%

(C) 20% (D) 25%

(E) srgaRa oy [a]

ag &1 St gaafst DNA (digeg) wreifiht grr
FITIT SITT @, 99T Shgdldr g?

(A) uget it w1 &t (B) g=t didt avt St

(C) Afr ittt dlar (D) o fidt o Sepr

(E) srgafa us [b]
gHi-1 & g1 gHi-11 &1 e K

gi-1 gHi-11

a. foq + swor 1. gfg Y

b. i + & II. o1 e
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104.

105.

106.

107.

108.

100.

C. U + 3wy II1. &f ©fey

d. Ay + g 1V. goy SfY

#i9 fRw v fRrereal & @ 9 IR &1 994 hifag:
(A) a-III, b-I1, c-I, d-IV

(B) a-111, b-1, c-II, d-1V

(C) a-1V, b-111, c-I, d-1I

(D) a-1, b-1I, c-11I, d-1V

(E) srqafa us [a]

gHi-1 & |1y -1 1 e fifsg:

gi-I (dffer afkgisT=m a1 )
G-I (T9r=)

a. HeT afe gRatsT L. gaTaTTe

b. HH-cAwT-3F T gk 11 §arg ATengR

C. AR afy aRatsTT I11. fierarer

d. STrRaH Sfe aRatsHT IV. §RYR

3 fGu 77 foepedt & @ Tt IR &1 9949 ShIfSIg:
(A) a-I11, b-1, ¢-1I, d-IV

(B) a-111, b-1V, c-I, d-1II

(C) a-1V, b-III, ¢-11, d-I

(D) a-II1, b-1V, c-II, d-I

(E) sraRa us [d]
............ ot wifaat &1 AR Fed gl

(A) STgHETETE (B) AR

(C) =8 (D) geraTe

(E) srgaRa us [d]
frafafaa & @ FFummideE S99, ifdsw
faya-a &2

(A) gt (B) dt st ot

(c) & < ot (D) Tw & bt

(E) srqafa us [c]
fArafaf@a A @ Fraargrsdar 9l 2

(A) &R (B) srsER

(C) mifaex (D) foier

(E) srqafa us [b]
g quTy A9 uH UG a8t 39 3491 shigd & 2

1. AT HHIH 2. fZgaaw

3. SregHtiTg 9HT 4. FHYRYT AT
#a fRw e fRArereal & @ 9t IWR &1 994 hifag:

(A) Sheret 2 (B) &as 3
(C) et 4 (D) a1
(E) srgaRa us [b]

frafaf@a sy=t & |, si-20 g T & fag
g FYT FITA &2

1. g Sft-20 far T¥de, 7,99.q. | 2008 # gam|
2. Sf1-20 &1 FEATET AT USied, I.99.9. 7 g1

3. 2020 # Sf1-20 fAER AT hY snurht Ao g
H gdl

4.§fma & Sfti-20 A & ofiT oft v =, T
gfRarR, ges ufaeg|

5. S1-20, 2024 =1 fAER TEAFT sTsiiar # gl

Ha frw 7u fAaweat & @ 9t IR &1 999 HifSg:

(A) 2,335 (B) 1,235
(C)1,4 3RS (D) 1,335
(E) srqaRka us [c]

110.

111.

112:

143.

114.

115.

gHi-1 o1 gHi-11 @ A= fifag:

gdi-1 (fredft/e & wf)  g=h-11 (/K. 9 o)
a. 6 forei/H. 1. 8.5 #Hi/3.

b. 20 frHi/=. II. g #/3. 11.

c. 30.6 faret /. III. 20 /3.

d. 72 frefi /s, V. %0 #/a.

Hi9 few 1u fRAereal & @ 9 IR &1 g9= hifag:

(A) a-1v, b-II, c-I, d-III

(B) a-11, b-1V, c-I11, d-I

(C) a-11, b-I, c-1V, d-III

(D) a-11, b-1V, c-1, d-1II

(E) srqafa us [d]
Match the given words of List-I with their
corresponding words in List-II.

List-I List-II

a. Director I. srasT

b. Accountant II. S99
c. Insubordination III fA2sre
d. Resources IV. dEIhR

Choose the correct answer from the options
given below:

(A)'a-11, b-1II, c-1V, d-I

(B) a-III, b-1V, c-1,/d-II

(C) a-1v, b-1, c-II, d-III

(D) a-I, b-II, c-11I, d-IV

(E) Question not attempted [b]
Weh U ehl faAT3q, SiFars 3R GieTs, bede o 3 ez
&l af Azt RIS SR Tts1E o1 S1gUId 5:3 giar
& AUT Ucdch H 2 HIeR <hl el Th3/UR SiquTd 2:1 gt
STt @1 AR Y rars dex d J1d w3

(A)22 (B)-12
(C) 24 (D) 20
(E) srgaRa me [a]

FiET oledh, fhet g IuahTsRal &t wrager vaT
A RIehdT 8?2

(A) T@fdi

(B) arazg

(C) <t ot vy (fE=rae oifws wfdw)

(D) fonfair

(E) srgaRa oy [c]
(4341+414) 3k (43%+414) & @ oEEs aar
g

(A) (43% + 419) (B) (43%1 + 41%)

(C) 84 (D)3

(E) srgafa us [b]
"0 I J g7 2AsE T TG HfAQI

1.9T + dA 2.9+dd

.U+ 4. ufa + I«

Hi2 few v RAereal & @ 9t IR 1 gg= hifag:
(A) dhae 2 (B) haet 3

(C) Fa<t 4 (D) et 1

(E) srgafa us [a]
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116.

117.

118.

110.

120.

121.

15 fenffat grr nfora A ure sies i g o &:

UTCih 5 10 [12 |15 |20
farenffat i d=ar | 3 4 5 2 1

(A) 11 (B)13

(©) 10 (D) 12

(E) srqaika us [a]
gHi-1 & a1y gHi-11 &t e fifsg:

gHi-I gHi-11

a. siza 31T gai I. s

b. Sit fhg ¢ SuFRI Rt AT S I e

c. Sit forg 1T IueRIY Rt A8 ArFaT 11 UeamTa

d. ammar ga IV. 3mTd

9 few ¢ faereat & @ 9 # & 9 IR @1 YA
Hfog:

(A) a-I, b-III, c-IV-II ~ (B) a-III, b-I, c-II, d-IV

(C) a-I, b-1I, c-11, a-IV (D) a-I, b-H, c-1V, d-III

(E) srqafa us [b]
STSTehel ISTEATT | pi=4T Adsq o smat et =
W@ a?

(A) gfaar (B) =rar
(C) =ter (D) ®a1

(E) sraRa us [d]
YT & & SgLhi g2

1. 4918 =t e war g1

2. ik <l fAfa< sar gl

3. uferar-auyg ) fAafRa sar gl

4. w13 [ wieeSR I FAET SR THIA ot [AEfa
AT 8l

H= Ry g el & & a9 Iugwh IR Hl HIfS1Q:

£

(A) dhaer 2 3R 3 (B) haer 1, 3 3R 4
(C) Fhaet 1 3R 4 (D).chaet 1, 2 3R 3
(E) srgaRa us [b]

Given below are the sentences ’in which
degrees of adjectives have been used. Select
the correct sentences.

1. He is the strongest man.

2. No other musician was better than him.

3. The crocodile is the largest of all reptiles.

4. This place is near to my home.

Choose the correct answer from the options
given below:

(A)2and 3 (B)2and 4
(C)3and 4 (D)1.2and 3
(E) Question not attempted [b]

7 Ry g FAE/ad wya Iy J agafa
A" & fore wea g/&?

1. ugdr gafa MEA 13-03-1967 & 25-04-1967 dh
2. g@=T ugufd ArE 20-08-1977 & 21-05-1977 a9
3. iR Argufa amE= 17-02-1980 | 05-06-1980 dh
4. gty Irgufe ET 15-12-1992 | 03-10-1993 dh

fag g fameat A & w swR gfAg:
(A) Fasr 1 3R 3 (B) dhaat 2
(C) Fhaer 2 3R 3 (D) a1

(E) srqaRka us [d]

122.

123.

124.

125.

126.

127.

128.

129.

130.

USTIYM & HIS AT H "gd &1 AfAE" g srar
8?
(A) A1e 3MTg (B) STagR
(C) fiw R (D) STaqR
(E) srqafa us [d]
Uah Afgdr 3197 geTd & HRUT HER 93 &l S
g 4 T8l ug Hahelll Tg FAsafaf@a 7 4 forw gfeeiy
g difga g2
(A) ST gRafAar (B) grsu=AgifuaT
(C) tfsigenar (D) grafoaT
(E) srqafa us [a]
A« 7 fidfiwft (BCC) aar g?
(A) TES e BIdT  (B) I1SS ShRI-ehidl
(C) s < it (D) scITSS ke it
(E) srgaRa us [d]
AT A @ 9 91 A% ' FT AT AE & ?
(A) 3R (B) uspRR
(C) == (D) w=@
(E) srqafa us [c]
TOHA%A 71 X 72 X 73 X ...... X eevenns X eene 79 #
SRS <hl 3ich ghmI-
(A)3 (B) 6
(€)o (D) 4
(E) srqaRa ux [c]
40 faenfday fY wem & IThY Frarzal ok ST UAR A
farenflat &t Sieear G 1S &) ageiar el hl Fud Himr
3413 A1feAent sheil <t A=l <A o aim gl
s 140- 145- 150- 155- 160-
(&) 145 150 155 160 165
farenfyai 3 6 12 9 10
& Tzl f
(A) 310 (B) 290
(C) 305 (D).300
(E) srqaRa ux [c]
Match the given words of List I with their
opposites in List II.
Listl ListII
a. Interior 1. Complex
b. Simple II. Mobile
c. Stationary ITI. Exterior
d. Private IV. Public
Choose the correct answer from the options
given below :
(A) a-11, b-111, c-I, d-IV  (B) a-1V, b-1, ¢-11, d-III
(€) a-111, b-1, c-I1, d-IV(D) a-1, b-1I, c-III, d-IV
(E) Question not attempted [c]
C 19T (language) a1 AT faha=t forar ?
(A) TSt a7 A (B) femr scher
(C) @ =gi= (D) 3fag R=h
(E) srgaRa oy [d]
fArafafaa & @ forg A hi Aerara fi.d.sh. & &k
ZRIA S g ?
(A) & (B) TI3WhIES
(C) Raersfea B (D) gsi
(E) srgaRa us [a]
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131.

132.

133.

134.

135.

136.

T Ug-g9< # gafgar reel hY siw oA & fag A
# & a1 yahT fhar srar g ?

(A) 3t} T (B) dfe 3% (a1 afR)

(C) oframr=g (D) @t Afhr

(E) srqaika us [c]

2[E a194 T 99 hifog-

(A) & T T AT E

(B) 3¢ FegEs ot Fal fett|

(C) feeett & g Zofra Tua1 €1

(D) 7 sy =TT X

(E) srgaRa us [c]

TA.79. g€ d danst (Rea) AR Faarav g ?

1. 399 9gd ¥ 999 3R YT Sl 994 gl g

2. 98 Ui ohl TURAT 9414 & U1 giar g

3. gg oft urtaeRatait & faavor g garar g1

4. g g ot 3R 31fdep smreptieh s=TaT 81

I iy U Reredt § @ 998 UGk fAhed &1 Iuq
HifSg:

(A) Fasr 2 3R 3

(B) haet 1 iR 3

(C) haer 1 3R 4

(D) et 1

(E) srgaRa us [b]

Tk ITcih OR O Thet 8 foh. /9. Y aner & sirar § ez
qgd TR 9 W 12 foh. #l./9. I 91e | 11T gl

1<k <Y 39 d a1 a1 82

(A) 10 fop. = /4. (B) 9.6 fah.#. /4.

(C) 11 for.=t. /4. (D) 10.6 fom.5. /4.

(E) srqafa us [b]

frafafaa 4 @ #9a sy 'ufereen!| & g g
agig?

1. ufrersp 9 Ut € St WA gt Ufdstiaal
AR & § a1 32 e A8t g1 ¢

2. 3 Sitarupstt siR-famupst <=l GRT §Y-HehHUl & 3UTR
# gurdt gid g1

3. gRyaEfEm, 9Rf&feH | SR (ifee ufdreianl & o
RAUE]

4. ufAfafe 98 ueR & ufarerss, Sitary & e
fAfxr & Twor & UehHT ol Ah F M B &

12 i3y 77 feheat & € T8 Iug<h IIR A 999 HIST:
(A) haer 2 3R 3

(B) hadt 3 3R 4

(C) ka2 3R 4

(D) haet 2, 3 3R 4

(E) srqaRka us [a]
Fill in the appropriate prepositions blanks of
List-I from List-II.

List-I List-II
a. Heis blind ....... one eye. I into
b. The boy fell ...... his bike. IL. of

c. Rohit is fond ...... children. IIL in

d. The lion jumped. ...... the well. 1V. off
Choose the correct answer from the option
given below:

137.

138.

139.

140.

141.

142.

(A) a-111, b-1V, c-II, d-I

(B) a-II, b-1V, c-1, d-III

(C) a-11, b-111, c-I. d-1V

(D) a-1, b-II, c-I11, d-1V

(E) Question not attempted [a]
7 & 7 fA=1 § @ g8 & A= Fad @2

13 17 16 5

16°21°19°6
(A) 17 (B) >
21 6
©) 16 ) 13
19 16
(E) srgaRa us [c]
99 9§ =) fufér vienfih gaa eifdes s=a 8!
(A) gve fiifém (B) dorste fiifé
(C) Sarote fiifém (D) 3-D fiiféw
(E) srgaRa us [d]

"I A P, Uk AdoRl Udeeh ¢ hd = hl
T A?

(A) 26 SHa<t 1980 (B) 26 wi7a<t 1986

(C) 26 STeRY 1979 (D) 26'S1=asY 1982

(E) ergaRd us [d]

g1 & 91y gHI-11 &1 e fifsa:

-1 qef1-11

a. F¥u I. <geq >

b. T9.8.9A.qa. II. 9k UR A9HISE Y

Sr=at-afehar dca TR &A1

c. Aed Hifsar II1. A1 W Uga &
fore afgedar o wai

d. 3= gifedm 1IV. fof@a, g2a 3k siaor
it 1 SateT=

= fou 7y fAheal & & 98 IR 1 994 hAifs:
(A) a-1V, b-II, c-I11, d-I

(B) a-II1, b-I, c-1V, d-II

(C).a-1v; b-1,:c-11, d-III.

(D) a-HI,'b-1, c-II, d-IV

(E) srgafa us [b]
SUHTSIh T UGHT haR STd o iy} forar ST gerdar
& gaifes-

(A) SraHTSIer FTHTAd: I I g1 § HAfdeh A gid &
(B) srgHTSieh # B IG1T 8id & ST ehdlR ST oh 1Y doft
g ffAfehar a1

(C) oruwrSier, oA el & wifegw wqor ar
mWifAgw & aFFikIss a1 SiH1sS &49ur gl @, Sit ok
ST # Iufeya Ca ok Mg mas & 91y Jgeiy =gl
g

(D) sruHTSTen Ut & AT hl g1 | 31fdreh germefia 81

(E) srgafa us [c]
90% ST, argHUSH & .............. O3 H gidt g1
(A) gHaTgHSE (B) AemwEd

(C) argrargHed (D) giterdge

(E) srgafa us [a]
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143.

144.

145.

146.

147.

148.

Ua.E1.QH. Q. &1 UGRT hch d9HI3E | ST S8 #+g,
(= kY avw FA) 91 & AT wiFET S AT e
ST 82

(A) <Tstaz> (B) <g Ter>

(C) <&=g> (D) <g-ge>

(E) srgaRa us [a]
TR & Hehd T 3T h gid & a4ifas -

(A) <t e, g a1 gu & Gad 31fdre Tehtoi ghar 81
(B) <t TreeT, g a1 ¢ & e 3ifdeh Sruad- gidt 8l
(C) &t gehrer, 1T, 49 a1 qu & Tog Afdeh WacH
gar gl

(D) w1et wreRteT, e a1 YU & I HH yhiof= giar g1
(E) srqaika us [d]
gt sranTa fawse quifest & anf o1 siar gdzm & gof
fasnfa gar 21

(A)6 (B)5

(c)4 (D)3

(E) sraRa us [c]
gdi-1 & a1 gA-11 &1 e Kifag:

gHi-I gt-II

a. Ied dast I §dtg.uH./d .98
b. it af ga= I1. srefias #2ftq

C. ST UTRehel HII. fr=af¥es g5

d. g gy 1V. gifdeh headaex

H Ry 71 fRArreal d & gl 3R &1 994 fifSi:
(A) a-I11, b-1, c-1I, d-IV  (B) a-1V, b-I, c-I, d-II
(C) a-1V, b-111, c-1L,/d-I (D) a-III, b-1, ¢-1V, d-iI

(E) srqafa us [d]
gHi-1 & ary gi-11 &t A Fife:

g1 -1

a. aRsrft aafer o I A= a9

& gl

b. #rfeies A gl foh e 11 9 arag

gt i

C. Ig 31141 3R $8 II1. usiaraeh arag

el el

d. smg aaf Agi @ §? IV, |g+h araa

H fRw g faereat & | 9g IR &1 9uq hHifSia:

(A) a-11, b-I, c-1V, d-III(B) a-I, b-II, c-III, d-1V

(C) a-11L, b-1, c-IV, d-I (D) a-I, b-I, c-1V, d-III

(E) srqaRka us [a]
TH.UY.-Uad« A "Azht fafrear” & aar @y /82

1. gg Ga2r A & fag vy ghar &1

2. Ug g fY g9d T gl

3. g gehefic i Tu@r aamar 21

4. gg U fie # uRads & ureuor &t 9= & @
FTQ 3@dT 2|

H7 Ry 1 Raeat d € 9@ Iugh IWR &1 999
HifSg:

(A) daet (B) haet 1 3R 4

(C) Shaet 2 3R 4 (D) &hawt 3

(E) srgaRd us [c]

149.

150.

gHi-1 & g1 gHi-11 &1 e K

G-I (ue=) gHI-11 (waptar fi afkeen)
a. gaied iR gafkd 1. uehrsr ol afkeraor

& gua i &1 |1

a1 &1 e

b. ari i feafearge I1. ueprar @1 wehiof

c. MmN A Fguqy 1L gof sfiaRes urrad=
&1 fmfor

d.RaE A wdfRfEr IV, uaien & argHSHT
&1 fAmfor STgad

= fog v faeped} & @ g8} IR &1 999 HIfSiw:
(A) a-1I, b-1V, c-I, d-III

(B) a-1I, b-1V, e-III, d-I

(C) a-1I, b-I, c-1V, d-III

(D) a-1V, b-II, c-I, d-III
(

E) SrgafRa us [a]
'"UReY' i At 2reg o1 Ta= hifig:
(A) Uty (B) usgca
(C) yaat (D) g2u
(E) srqafa us [a]
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